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Please check that this question paper contains 8 printed pages and 2 pages of maps.

¢ Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

» Please check that this question paper contains 26 questions.

e Please write down the Serial Number of the question before attempting it.

e 15 minutes time has been allotted to read this question paper. The question paper will be
distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the student will read the question
paper only and will not write any answer on the answer script during this period.
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General Instructions :

(i) There are 26 questions in all.

(ii)  All questions are compulsory.

(iii) Marks of each question are indicated against it.

(iv)  Question numbers 1 to 10 are very short answer questions carrying 1 mark each.
Answer to each of these questions should not exceed 20 words.

(v)  Question numbers 11 to 20 are short answer questions carrying 3 marks each.
Answer to each of these questions should not exceed 80 words.

(vi) Question numbers 21 to 25 are long answer questions carrying 5 marks each.
Answer to each of these questions should not exceed 150 words.
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(vii) Question number 26 is related to identification or locating and labelling of
geographical features on maps.

(viii} Qutline maps of the World and India provided to you must be attached within your
answer-book. '

(ix) Use of templates or stencils for drawing outline maps is allowed.
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1. Which continent has the highest growth rate of population ? 1
T meTEi = SrET 9fg 7 9 e € 7

2. Which country has the lowest sex ratio in the world ? 1

Tovg o ey o o e SR /R 7

3. Name the two activities on which the earliest human beings were dependent for their

1.1 1
sustenance. 2 T3 =
39 € BRaratl & A1 SRy, N W A Ewei qee ot Siae-THare & e iR wd 9
4. What is a household industry ? 1
ERE] AT R E 7
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5. Give the significance of river St. Lawrence as an inland waterway. : 1

SN STOHRT & &9 § W A9 7 1 Hewd Jaisy |

6.  Give the meaning of human settlement. ' 1
AIE St 1 37 ST |
7. What is the contribution of India in the production of rice in the world ? 1

feryer ® =rreret o IeUTEA | AR S TG AR § 2

8. Name the first major sea port of India developed after independence. 1

T % 9IS HRA % YU faeiad 75 9! uae S 9 S0t |

9. Which sector of economy accounted for the highest percentage of India’s total value
of exports in 2003-2004 ? 1

T4 2003- 2004ﬁw%§aﬁmauﬁ#%qmmmmmaﬁmmﬁ
qURRT 3ifeRe Y 77 ?

10. Name the two metropolitan cities which are the main polluters of river Ganga before

it reaches Varanasi. \ 1

FRTOTH | Ig F Uaet, 37 &1 HeRI & A9 Samel, S 7 78 & & Wgueh § |

11.  Explain the concept of ‘Determinism’ with suitable examples. 3x1=3

TIeeaR’ o foaR i SUge 3JE0N Wied ST Hig |

12.  Divide the population of the world into two groups on basis of residence. How do
they differ from each other ? Explain any two points of difference. 1+2=3

frarg & TR W fove S SEEE 6 el S H gt ST | 3 U g 9 R TR e
& 7 Pyt o fereel gt Torgati =61 T wifE
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13.

14.

What is the importance of ‘dairy farming’ ? Why is it mainly practised near urban
and industrial centres of the world 7 Explain any two reasons.

S Y T 1 WETS © 7 FOvE T 98 TR AR AR deel % F2 58 w9 § 4 $ A

1+2=3

¥ 7 2 T HROT W HT |
Study the table and answer the questions that follow : 1+1+1=3
World Imports and Exports (in millions of U.S. §)
1955 1965 1975 1985 1995 2005

Exports 95,000 | 1,90,000 | 8,77,000.| 19,54,000 | 51,62,000 1,03,93,000
Total Merchandise |
Imports 1 99.000 | 1,99,000 | 9,12,000 | 20,15,000 | 52,92,000 | 1,07,53,000
Total Merchandise

(14.1)

exports of goods and services ?

(14.2)
(14.3)

Why does the need for trade arise ?

) T TR T ST IS 3R 3T A {90 7T vl F IR e

64/1/1

fave : s AR FraiE (F.ud. 99 T SieRt )

Which decade shows the highest increase of total value of imports and

How much is the increase in total value of exports during 1955 to 2005 ?

1955 1965 1975 1985 1995 2005
am 95,000 1,90,000 | 8,77.000 ' 19.54,000 | 51,62,000 | 1,03,93.000
T HTRE HTA |
3T 99,000 ! 1,99.000 9.12.000 | 20,15,000 | 52,92,000 | 1,07,53.000
A AT HAA

(14.1) Trg 3o | &M &R 9 51 78 awell #R 9ardl & $ qod H FamE
ST gig SO T g 2

(14.2) 1955 | 2005 = e T 470 981 % Fef God H ha1 JE g5 8 2

(14.3) =I9R &I ST=vasHal F91 g § ?




Note: The following question is for the BLIND CANDIDATES only, in lieu of Q. No. 14.

15.

16.

17.

18.

64/1/1

What is international trade ? Why does international trade exist ? Explain.
A Eteied we hee g adientomt & o oee T 14 S RE WE |
STRTSEIY MR 1§ ? FARILNT AR ey | 41 ¢ 7 T T |

1+2=3

Mention the famous oil pipeline of the U.S.A. How are pipelines one of the most
convenient mode of transport ? Explain any four points.

TG T AR S ARG 6T WIEUeIe 1 Seoil ST | UIEueie IRae & 9sd i
Gferrstes Tl 7 9 6 § 7 ol uR gt 3 W win |

1+2=3

Why are ports called ‘gateways of international trade’ ? Explain any three reasons. 3Xx1=3

THAl B ¢ SRS SR &% WY §R R e ¢ 2 foresl i SRl =l sare Hig |

Explain any three factors that determine the type of rural settlements in India.

9 | AT STl % WehR oh! Feiiia o oot {6l di e SReh! hl saret il |

Study the given diagram and answer the questions that follow :

(18.1)

(18.2)

Surface Water Withdrawals

Domestic
9%

Industrial
2%

Agriculturc
89 %

Groundwater Withdrawals

Domestic
3%

1ndustrial
5%

Agriculture
92 %

3x1=3

1+2=3

Which sector accounts for most of the groundwater utilisation ? Give one

reason.

Why is the share of water utilization in domestic sector lower in groundwater

as compared to surface water ?
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Note:

v

19.

3T U ST T 27T HIfSTT AR S/ A 20 U wvHl % IR foflaw
YOS Wl Hi T (Fywrerm) wirwe @t Ferdt (Praresm)

P F
89 % 92 %

(18.1) T |1 &1 *irosier FiepTal 1 Tl 3T ST K3l € 7 Toh HRUT AT |
(18.2) =] &F H HwTeT T SYANT, ERIAHT STel SYFNT ! gorT H 1 F41 § 2

The following question is for the BLIND CANDIDATES only, in licu of Q. No. 18 :

Why is the demand of water for irrigation mcreasmg day by day in India ? Explain
any three reasons. 3x1=3

FrfatEa we Feer gitedtr wtentoral & e v 6. 18 F ™A W E |
aRa ¥ Fae % fow st =t 19 feq-vfafes o7 9 W@ 8 2 S 99 SR T S |

Explain any three major objectives of the ‘New Industrial Policy’ of India, which
was announced in 1991. 3x1=3

T 1991 ¥ i Y IS R Wl T2 SRTE AT F R i 7T 329l B W HIRT |

20. Describe any three major problems related to water in India. 3x1=3
ARA ¥ 561 § G- ol di7 T TS &1 90 i |
21. “Services are very important aspect for economic development of a country.”
Analyse the statement by explaining five components of a service sector. §5x1=5
TRt 9T 3 TR TRt & foTT Wad Sga Wewaqol ¢ I Wall &3F & Ui 92! ! IRl i
T, TF o I [eeiq0 Y |
22. What are rural settlements ? What are the two types of the rural settlements in
the world ? How are they different from each other ? Give three points of
distinction. 1+1+3=5
TretoT SR /T € ? fove # &1 WeR H AT afeadr w | € ? 3 9! U g § R
WehR e € 7 T st e i fag Sifsw
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23. Explain with examples the occupational structure of India’s population. S5x1=5§

TRA ] SEET & SATIHIGF TH ] TRV Wied SRS ST |

24. Describe any five major problems related to Indian Agriculture. 5x1=5

TRART P W T o vt e FHee F S S |

25. Define the term ‘Road Density’. Explain with examples the two main determinants of
road density in India. 1+2+2=5§

‘T T VI ht URTST ST | IR | Gl & e o 31 g Fuiehl Y S3mevon wfed
T I |

26. (26:1) In the given political Outline Map of the World, the following four
features are shown : 4 x 2= 2

(A) The major area of commercial livestock rearing.

(B) The major Sea Port.

(C) The major Air Port.

(D) The Mega City

Identify these features and write their correct names on the lines marked
near each feature.

(26.2) In the given political Outline Map of India, locate and label the following
with appropriate symbols : 3x1=3
(i)  The State having lowest density of population.
(i) The oil refinery located in West Bengal.
(111) The major sea port located in Goa.

(26.1) €HEW & fgu TTw, TS YEr-uEtes ¥ fAfehes wr o e T
(A) SO UYTEE 9T S UF TS &7 |
(B) e S U |
(C) M@ ey |
(D) HAMTR |
T TRV i TEI SHITSU SR W ST & Mehe @i TS @7 WO SHH Tel AW
forau |

(26.2) fou TIU URE % IS Y@T-AETES | e o Rufa suge foet @ ke
3R 3T T Tl
(1) FEE FH FAHEAT g4 d1el U7 |
(ii) ufg=rdt ser 9 fera Aot uiessor eie |
(iif) 7T ¥ Rerd e sl aw |
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Note: The following questions are for the BLIND CANDIDATES only, in lieu of Q. No. 26 :
Ate:  FreAtofad s et gt wdtentorat % fore s T 26 F M W E

(26.1) Name any one major sea port located on the western coast of North
America.

(26.2) Name the coastal mega city of Brazil.
(26.3) Which state of India has the lowest density of population ?
(26.4) Name the oil refinery located in West Bengal.

(26.5) Which is the major sea port in Goa ? 5x1=5§

(26.1) IR SR F TR T R Rad ! T TS 79 A S |
(26.2) TSI & T B R H AH TARE |

(26.3) 9Rd % 6T T § SEEN 1 9@ 9eH FE € 7

(26.4) uf¥=H STTIeT o U et TREHOT A T A9 FdTsy |

(26.5) TETH HF T TTE G U 8 ?
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WORLD — Political

1. Based upon Survey of India Map with the permission of the Surveyor Ceneral of India,

2. The territorial waters of India extend into the sea to a distance of twelve nautical miles measured from the appropriate baseline.
3. The external Boundary and cost-line 0<< India shown on this map agree with the Record / Master copy certified by the survey of India, Dehra Dun.
4 The administrative Headquarters of Chandigarh. Haryana and Punjab are at Chandigarh.
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Outline Map of India (Political)

Map for Q. No. 26.2
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